

Ogbonna Justice Nwagwu

MBBS

17/11/2012/86

MTH104

Questions

A Examine whether or not these pair of lines are perpendicular to each other.

1) $y - 3x - 2 = 0$, and
 $5y + x + 9 = 0$.

Soln

For these two lines to be perpendicular to each other, then

$M_1 M_2 = -1$

Find the values of M_1 & M_2 using the equation for line

$y = mx + c$

For M_1

$y - 3x - 2 = 0$

$y = 3x + 2$

$M_1 = 3$

For M_2

$5y + x + 9 = 0$

$5y = -x - 9$

$y = -\frac{1}{5}x - \frac{9}{5}$

$M_2 = -\frac{1}{5}$

$M_1 M_2 = 3 \times -\frac{1}{5} = -\frac{3}{5}$

$M_1 M_2 \neq -1$

\therefore The lines are not perpendicular.

$y - 3x - 2 = 0$ and

$5y + x + 9 = 0$

are perpendicular to each other.

other



2. Solu

$$3y - 4 = 2x + 5 \text{ and}$$

$$y - \frac{2}{3} = x + 6.$$

M_1 , for the equation

$$3y = 2x + 3 + 4$$

$$\frac{3y}{3} = \frac{2x + 7}{3}$$

$$y = \frac{2}{3}x + \frac{7}{3}$$

$$M_1 = \frac{2}{3}$$

M_2 , 2nd equation is $2x + 3y = 11$ to solve all

$$y = x + 6 + 5$$

$$y = x + 11$$

$M_2 = 1$, and not mutually all pairs is $M_1 \neq M_2$ to solve all

$$M_1 M_2 = -1.$$

$$\frac{2}{3} \times 1 = \frac{2}{3}$$

$$L = L - X \neq$$

\therefore The equation of line $3y - 4 = 2x + 3$ & $y - 5 = x + 6$ are not perpendicular to each other.

$$\text{for } 0 = 2 - \frac{2}{3} - 1$$

$$0 = 1 + \frac{2}{3} + 1 \neq$$

B Find the equations of the tangent and normal to the curve

$$x^2 + y^2 + 3xy - 11 = 0$$

$$(x=1, y=2).$$

Solu

$$M = \frac{dy}{dx} \text{ of } x^2 + y^2 + 3xy - 11 = 0.$$

$$\frac{2x + 2y \frac{dy}{dx} + 3(x \frac{dy}{dx} + y)}{2x + 2y \frac{dy}{dx} + 3(x \frac{dy}{dx} + y)} = 0.$$

3. Find the equation of the normal to the curve

at the point

$$x^2 + y^2 = 10$$

at the point

$$(1, 3)$$

Solu

$$2x + 2y \frac{dy}{dx} = 0$$

$$\frac{dy}{dx} = -\frac{x}{y}$$

$$\frac{dy}{dx} = -\frac{1}{3}$$

$$y = -\frac{1}{3}x + c$$

$$3y = -x + 3c$$

$$0 = -1 + 3 + 3c$$

NO

$$L = -\frac{1}{3}M$$

$$L = -\frac{1}{3} \times \frac{1}{3}$$

$$L = -\frac{1}{9}$$

$$L = -\frac{1}{9}$$

$$L = -\frac{1}{9}$$

$$L = -\frac{1}{9}$$

$$L = -\frac{1}{9}$$

$$L = -\frac{1}{9}$$

$$L = -\frac{1}{9}$$

$$L = -\frac{1}{9}$$

$$L = -\frac{1}{9}$$

$$L = -\frac{1}{9}$$

$$L = -\frac{1}{9}$$

$$L = -\frac{1}{9}$$

$$L = -\frac{1}{9}$$

$$L = -\frac{1}{9}$$

$$L = -\frac{1}{9}$$

$$L = -\frac{1}{9}$$

$$L = -\frac{1}{9}$$

$$L = -\frac{1}{9}$$

$$L = -\frac{1}{9}$$

$$L = -\frac{1}{9}$$

$$L = -\frac{1}{9}$$

$$L = -\frac{1}{9}$$

$$L = -\frac{1}{9}$$

$$L = -\frac{1}{9}$$

$$L = -\frac{1}{9}$$

$$L = -\frac{1}{9}$$

$$L = -\frac{1}{9}$$

$$L = -\frac{1}{9}$$

$$m = \frac{dy}{dx} \Big|_{x=1,2} = \frac{-2(1) + 3(2)}{2(2) + 3(1)} = \frac{-2 + 6}{4 + 3} = \frac{-8}{7}$$

$$m_1 = -8/7$$

The equation of the Tangent

$$y - y_1 = m(x - x_1)$$

$$y - 2 = -8/7(x - 1)$$

$$y - 2 = -8x/7 + 8/7$$

~~Equation of the Tangent~~

multiply through by 7.

$$7y - 14 = -8x + 8$$

$$7y = -8x + 22$$

$$7y - 22 = -8x + 22$$

$$7y + 8x - 22 = 0 \quad (\text{Equation of the Tangent})$$

Equation for the Normal

$$m_2 = -1 \div -8/7$$

$$m_2 = -1 \times 7 / -8$$

$$m_2 = 7/8$$

$$y - 1 = 7/8(x - 2)$$

$$y - 1 = 7x/8 - 14/8$$

$$8y - 8 = 7x - 14$$

$$8y = 7x - 14 + 8$$

$$8y = 7x - 6$$

$$8y - 7x + 6 = 0 \quad (\text{Equation of the Normal})$$